Miss Hughes group — Bronze reasoning and problem solving

1a. Joe has _4_ of a pizza.
)
He gives Niall one-sixth of the pizza.

How many sixths does he have left?
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1b. Katie has % of a pizza.
She gives Josh four-eighths of the pizza.

How many eighths does she have left?

2a. Is Charlie correct?

H I subtract % from & .
S 5
b Sami has = .
II | have more than Sami.
Charlie
Explain why.
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2b. Is Savannah correct?

7

| subtract % from

4 .

Hanif has

I have less than Hanif.

Savannah

Explain why.
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3a. Choose a fraction to make the part
whole model correct.
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3b. Choose a fraction to make the part
whole model correct.
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